e
T LOBKRENR[KER] GE #H)

s R NS R TEK R
71/ [ \ 5.00 S LI2E2T 0. 31mOALET
1,/ N
i 4 TN
~ & _*‘ =8 o
LD IKERETBERE (4 A—) =SREALGR [
TR il
“#R
EI...;;_’
oy
BRALR | P N REEKER
NRE i 5.00 8 LI=&>TO. 12mDKEIET
s@EEkan @
[ wmm DIBEDBEKE H=0. 94
] 0 "2
:: —~__~
HEOKEFIZ, E%ﬁ%i—ﬁp'm 00N TLBKES LT ¢ )
90ZFETH T, FHIC10EHRLET, LS L BKH R AR
( < B 3% JKAT- % D BRIk RS
e
i
J\KR
TR L
? HOKSRIATOR K E
AR
" oy i
KE(LH10%I27Y)  RAHELERLES, FRIREER




FS LOBKAGHRIRER] GE #H) Al Ak

XERDAEICIYRIEZFNEDIHEENHYFT .

M=
FA LTIESA15ANSDRRERE) ICEDHEKDI=6, #KAFHEITLEL=.
SH15HOR M SEYIRDO =ML, RARBEEREZE35mm, BETRE(X54mmeRY | RARAEIL75.4Tm3/sETERLELT=,
HOKEAEIEEL T71.44m3/s, $9235.0Fm3MDKEETFREL . /IN{Z A2 TEKGIER A B ih S DA NI KA ZE03Im T IFELT=,

MEL—4%— (8A158 2:00)

BRREOKR (FRSY LREFEHRE)

FFEIRE mm RETRE mm
50.0 100.0
400 e BN &E (mm)
30.0
50.0
20.0
100
oo it o8 T 00
o o o o o o o o o o o o o
=] =] =] (=1 S =] =] =] =] =] =] =] S
S & ¥ & & S5 & ¥ & & g 4 O SR LT
F S LEETT
W I & RRIKR ACIESR/ARLCI
FkhE EL m TR m3/s A ®| BEfREARIII—FFL
220.00 200.00 ZEHES 227.00m
- FEKAL (m) 1 12 =3 61.00m
218.00 i AR (m3/s) F= TR AL ] iE E 173.00m
216.00 H S LT (m3/s) EL=212.88m 18 [ 5.00m
Ml 2tvmsq1= 4 < -E -
21400 || BARAR _— 150.00 2 &% 171,000m3
: | 75.47m3/s /< 1 £ kK m & 86.7km2
21200 \ B ~— ] H K @ B 1.0km?2
21000 | \\ BOKERER 7144md/s 1 100.00 B KIS = 14,950F m3
208.00 }\ ﬂ48.0:Fm3€'$'.L\LETE ﬁ ??]:”ﬁiﬁ7l&§ 133331"‘3
[ RARAFLBURE 1 KB = i m
20600 | / \(//440%3/3 1 50,00 @R KL 650m3/sec
204.00 ' ;T B R = 50m3/sec
20200 | 7 \ ] Hmon = 600m3/sec
0000 L S 1 0.00 HREEA 1900k
2 . L L " — L L X = ==
o © o 9 9 9 9 9 9 9 9O o = A %EE jE,J 15,500kw
S§2ssgsgg¢e¢g s BAFRKS T4m3/sec
e ¥ ¥ 2 2 8 g ® I g E EF141 5

gg15e 0:00



